

EXAM 1

BLAKE FARMAN

Lafayette College

Answer the questions in the spaces provided on the question sheets and turn them in at the end of the exam period.

It is advised, although not required, that you check your answers. All supporting work is required. Unsupported or otherwise mysterious answers will **not receive credit**.

You may **not** use a calculator or any other electronic device, including cell phones, smart watches, etc.

Name: _____ Solutions _____

FUNCTIONS

1. Find the value of b that makes the function

$$f(x) = \begin{cases} \frac{x^2 - 25}{x + 5} & \text{if } -5 < x \\ 5x + b & \text{if } x \leq -5 \end{cases}$$

a continuous function.

$$\begin{aligned} \lim_{x \rightarrow -5^+} f(x) &= \lim_{x \rightarrow -5^+} \frac{x^2 - 25}{x + 5} = \lim_{x \rightarrow -5^+} \frac{(x+5)(x-5)}{x+5} \\ &= \lim_{x \rightarrow -5^+} x - 5 = -5 - 5 = -10 \end{aligned}$$

$$\lim_{x \rightarrow -5^-} f(x) = \lim_{x \rightarrow -5^-} 5x + b = 5(-5) + b = -25 + b = f(-5)$$

To be continuous, we must have

$$\lim_{x \rightarrow -5^+} f(x) = -10 = -25 + b = \lim_{x \rightarrow -5^-} f(x) = f(-5)$$

so

$$b = -10 + 25 = \boxed{15}$$

DERIVATIVES

2. Use the **limit definition**

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h}$$

to compute the derivative of

$$f(x) = \sqrt{x+2}.$$

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{\sqrt{x+h+2} - \sqrt{x+2}}{h} \left(\frac{\sqrt{x+h+2} + \sqrt{x+2}}{\sqrt{x+h+2} + \sqrt{x+2}} \right) \\ &= \lim_{h \rightarrow 0} \frac{(x+h+2) - (x+2)}{h(\sqrt{x+h+2} + \sqrt{x+2})} \\ &= \lim_{h \rightarrow 0} \frac{h}{h(\sqrt{x+h+2} + \sqrt{x+2})} \\ &= \lim_{h \rightarrow 0} \frac{1}{\sqrt{x+h+2} + \sqrt{x+2}} \\ &= \frac{1}{\sqrt{x+2} + \sqrt{x+2}} \\ &= \frac{1}{2\sqrt{x+2}} \end{aligned}$$

DERIVATIVE RULES

3. Compute the line tangent to

$$f(x) = 2x^3 - 9x^2 + 12x$$

at $x = 2$.

$$\begin{aligned} f(2) &= 2(8) - 9(4) + 12(2) \\ &= 16 - 36 + 24 \\ &= 16 - 12 \\ &= 4 \end{aligned}$$

$$f'(x) = 6x^2 - 18x + 12$$

$$f'(2) = 6(4) - 18(2) + 12 = 24 - 36 + 12 = -12 + 12 = 0$$

$$y - 4 = 0(x - 2) = 0$$

$$\Rightarrow \boxed{y = 4}$$

PRODUCT AND QUOTIENT RULES

4. Compute

$$\frac{d}{dx} [\sin(x) \cos(x)].$$

$$\begin{aligned} \frac{d}{dx} [\sin(x) \cos(x)] &= \frac{d}{dx} \sin(x) \cdot \cos(x) + \sin(x) \frac{d}{dx} \cos(x) \\ &= \cos(x) \cos(x) + \sin(x) (-\sin(x)) \\ &= \boxed{\cos^2(x) - \sin^2(x)} \end{aligned}$$

5. Compute

$$\frac{d}{dx} \left[\frac{x+1}{x \sin(x)} \right].$$

$$\begin{aligned} \frac{d}{dx} \left[\frac{x+1}{x \sin(x)} \right] &= \frac{\frac{d}{dx}(x+1) x \sin(x) - (x+1) \frac{d}{dx}(x \sin(x))}{(x \sin(x))^2} \\ &= \frac{x \sin(x) - (x+1) \left(\frac{d}{dx}(x) \cdot \sin(x) + x \frac{d}{dx} \sin(x) \right)}{x^2 \sin^2(x)} \\ &= \frac{x \sin(x) - (x+1) (\sin(x) + x \cos(x))}{x^2 \sin^2(x)} \\ &= \frac{x \sin(x) - (x \sin(x) + x^2 \cos(x) + \sin(x) + x \cos(x))}{x^2 \sin^2(x)} \\ &= \boxed{\frac{-x^2 \cos(x) - x \cos(x) - \sin(x)}{x^2 \sin^2(x)}} \end{aligned}$$

CHAIN RULE

6. Compute

$$\frac{d}{dx} \sin\left(\frac{x+2}{3x+5}\right).$$

$$\begin{aligned} \frac{d}{dx} \sin\left(\frac{x+2}{3x+5}\right) &= \cos\left(\frac{x+2}{3x+5}\right) \frac{d}{dx} \left(\frac{x+2}{3x+5}\right) \\ &= \cos\left(\frac{x+2}{3x+5}\right) \left(\frac{\frac{d}{dx}(x+2)(3x+5) + (x+2) \frac{d}{dx}(3x+5)}{(3x+5)^2} \right) \\ &= \cos\left(\frac{x+2}{3x+5}\right) \left(\frac{(3x+5) - (3x+6)}{(3x+5)^2} \right) \\ &= \cos\left(\frac{x+2}{3x+5}\right) \left(\frac{3x+5-3x-6}{(3x+5)^2} \right) \\ &= \cos\left(\frac{x+2}{3x+5}\right) \left(\frac{-1}{(3x+5)^2} \right) \\ &= \boxed{-\frac{\cos\left(\frac{x+2}{3x+5}\right)}{(3x+5)^2}} \end{aligned}$$